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Enrichment

4-5
Transportation Conclusions
Each person made a conclusion about the data in the table.  

Think about each person’s conclusion.  Do you agree?  Explain.

1. Kylie compared the length of railways in Australia and 

Japan.  She concluded that Australia has 24,282 kilometers 

of railway more than Japan. 

2. Franklin looked at the number of airports in Germany 

and Hungary.  He concluded that Germany has 508 more 

airports than Hungary. 

3. Theona concluded that France has 14 more airports than 

Hungary, New Zealand, Finland, and Japan altogether. 

Airports and Railways

Country
Number of  

Airports

Length of  

Railways (km)

Australia 455 47,738

Finland 148 5,741

France 501 29,085

Germany 554 47,201

Hungary 46 7,937

Japan 175 23,556

New Zealand 118 4,128


